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Quiz 1
You scored 0 out of 100
Question §
You did not answer the question.
Dutermune whether or net the given function s vne to-one and, if so. find the inverse. It { has an inverse. give the doninn ot !
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Question 2

You did not answer the question.

Deternune w hether or not the given function ts one lo-one and. if so. {ind the mverse 10 has an mverse, goe the doniain nl’/’I
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Question 3
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You did not answer the question.

Determine whither o1 got the ziven tuncton (s one-to-one andf so. tind the iserse 107 has aninverse, give the donin ol !
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Question 4
You did not answer the question.

Determine w hether o not the given function 1s one o-one and. it so. find the inverse. If £ has an inverse. give the domain uf['

fe =+ 24

(Df’m =L5 C Hle)‘f- k4x)

. 15
(I +2x2)

) II(“= < duntin '
TR\ 14 o Loy

by o Nt one-to-one a”\ + + o o~

T => NOT MONOTONE
o rl(‘)-: V2 2 domin (0, o}

=> NoT oRE-To—0NE.

4 !-I(‘) (I+2x') . doman (oo, =)

d1los_ 1
¢ fl("): v 2 2 donin i-eo, o

Question 5

You did not answer the question.



Determme whether or not the given funcuon 1s on
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Question 6

e o one and. if so. find the Inverse
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You did not answer the question.

Determine whether or not the given function is one to-on

n-f-x‘o-onc
T

'
—h Y = —

R AT %
€
c f'(',— x
1 1
e - 1468
d) f’(‘): 12 12

Question 7
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e and, if so. find the inverse.
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You did not answer the question.

Which of the following represents the graph of the inverse of the given graph?
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The given function is not one-to-one



Question 8
You did not answer the question.
nstaat, find (he values of A for which s wone.
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Question 9
You did not answer the question.

Suppose that /' has an inverse and f (S =60 ' (51= 23 What s (f Tyrien
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Question 10

You did not answer the gquestion.
tunction fis differenuable. has an inverse and i g1) = -7. Find (1 ") 7
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Question 11
You did not answer the question.

Suppose Uil the given function /s differentiable. bas w inverse and that f£9) = 30 Find 1f BRRK'N
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Question 12
You chid not answer the yuestion.
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You did not answer the question.

e the pmpm(_.s of logarithms and the table given below to estmate In(56).
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You did not answer the question.
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Use the properties of loganthms and the tble given below to estimate Inf 4.3 Y
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Question 15

You did not answer the question.
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Differrtials  estowats .
Focrh)= Foo + hlx).

You did not answer the question.
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You did not answer the question.
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